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_________________________________________________________________________ 

 

1. Who is the actual Secretary-General of the UN? 

a) Ban Ki-moon 

b) Boutros Boutros-Ghali 

c) Kofi Annan 

d) António Guterres 

e) Kurt Waldheim 

 

2. Which of the following represent local government bodies in the EU? 

a) The European Parliament 

b) The European Economic and Social Committee 

c) The Committee of the Regions 

d) The European Ombudsman 

e) The Congress of Local and Regional Authorities 

 

3. Which of the following did the Congress of Vienna end? 

a) The Thirty Years’ War 

b) The Crimean War 

c) The War of the Spanish Succession 

d) The Napoleonic Wars 

e) The Seven Years' War 

 

4. Cross-border cooperation in Europe is regulated by:  

a) the Vienna Convention 

b) the Madrid Convention 

c) the Rome Convention 

d) the Treaty of Rome 

e) the Geneva Convention 

 

5. Conservative values include: 

a) freedom of choice in matters of value 

b) collective ownership of the means of production 

c) multiculturalism 

d) defence of the traditional family 

e) promotion of alternative lifestyles 

 

6. Which of the following individuals is a theorist of socialism? 

a) Fridrich August von Hayek 

b) Eduard Bernstein 

c) Milton Friedman 

d) Roger Scruton 

e) Alexis de Tocqueville 
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7. The UN Security Council consists of: 

a) 4 permanent and 10 non-permanent members 

b) 10 permanent and 5 non-permanent members 

c) 5 permanent and 10 non-permanent members 

d) 5 permanent, 2 regular and 8 non-permanent members 

e) 8 permanent, 2 regular and 5 non-permanent members 

 

8. An electoral clause is: 

a) a natural threshold for entry into a representative body 

b) an election deposit 

c) the percentage of votes necessary for progress to the scrutinium 

d) a form of candidacy or a form of voter registration 

e) the method of a recount of votes to mandates 

 

9. Which of the following is not a type of party system? 

a) The two and a half party system 

b) Atomized party system 

c) Bipartisanship 

d) Multipartism with a dominant party 

e) Moderate mono-partism 

 

10. Geopolitical concepts were influenced by: 

a) the theory of marginal growth 

b) the theory of class struggle 

c) Catholic social teachings  

d) the theory of natural selection 

e) the theory of relativity 

 

11. The Czech president’s term of office lasts for: 

a) 4 years without the possibility of re-election  

b) 4 years with the possibility of one re-election 

c) 5 years without the possibility of re-election 

d) 5 years with the possibility of one re-election 

e) 6 years 

 

12. The basic and primary function of sociology (from which the other functions are 

derived) is: 

a) to broaden the cultural horizons of people 

b) to participate in shaping practical policies 

c) to identify and explain the human social world 

d) to socialize people 

e) to reform society 

 

13. Which of the following classical sociologists said: “Sociology should examine forms of  

social formations, groupings, like geometry examines forms of physical bodies”: 

a) M. Weber 

b) R.T. Malthus 

c) G. Simmel 

d) E. Durkheim 

e) F. Tönnies 
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14. Which of the following is typical of society during the industrial revolution (culminates 

in the 1st half of the 19th century)? 

a) Criticizes the idea of sustained economic growth 

b) Man is heavily dependent on nature 

c) The prevalent belief in inexhaustible natural resources 

d) There is a balance between man and nature 

e) Natural resources are depleted 

 

15. Social anthropology is a scientific discipline that: 

a) is engaged in the social life of various animal species 

b) does not have a common subject nor object of study with sociology 

c) is based on ethology 

d) does not deal with the culture of human societies 

e) studies the same phenomena as sociology, but in different types of human societies 

 

16. In its summary, leisure time means: 

a) the time that people spend away from work 

b) the time that remains for people after fulfilling all of their obligations (occupational, 

non-occupational) 

c)  the time that a person devotes to his/her interests (including time at work, if it is their 

“hobby”) 

d) the time that a person devotes to so-called passive relaxation 

e) the time that a person devotes to personal development (in particular education) 

 

17. Tönnies’s concept of communality can be associated with: 

a) a fictional, ideally cooperative group 

b) a large social group 

c) traditional society 

d) bureaucratic organization 

e) a formal grouping 

 

18. In sociological terminology, the concept of sanction means:  

a) a means of social control 

b) deviant conduct 

c) prohibited manner of acting 

d) commanded manner of acting 

e) the Criminal Code 

 

19. Which of the following claims does not hold up in sociology? 

a) A majority of contemporary organizations are bureaucratic in nature 

b) Bureaucratic organization is characterized by an effort to determine the exact 

procedures for fulfilling all tasks 

c) Bureaucratic organization should be the executive form of carrying out a certain set of 

professional activities  

d) A bureaucratic organization is a prototype of inefficient management 

e) A bureaucratic organization represents the ideal type of perfect organization 

 

 

 



 

sv-1/4 

20. Which of the following best describes the process of urbanization? 

a) Transformation from an industrial to an information society 

b) Transformation from a rural to an urban society 

c) Transformation of national companies to global companies 

d) Transformation of a technical civilization society to a knowledge society  

e) Transformation from an urban to an industrial society 
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